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 General Intelligence
Direction for question 1 to 4 : Select the related
word/letter/number/figure from the given alternatives.

ØeMve mebKÙee 1 mes 4 lekeâ kesâ efueS efveoxMe : eqoS ieS efJekeâuheeW ceW mes
mebyebefOele Meyo/De#ejeW/mebKÙee/Deeke=âefle keâes ÛegefveS~

1. 24 : 288 :: 22 : ?
(a) 238 (b) 240 (c) 242 (d) 248

2. Car : Garage :: Aircraft : ?
keâej : iejepe :: JeeÙegÙeeve : ?
(a) Shelter/Mesušj (b) Hanger/nQiej
(c) Jetty/pesšer (d) Airdrome/SÙej[^esce

3. N O G S: : : :14 15 ?
(a) 15 16 (b) 6 18
(c) 7 19 (d) 5 17

4. BMCX : CNDY :: ? : EXFW
(a) DUGT (b) FCUT (c) DTGU (d) DWEV

Direction for questions 5 to 7 : Find the od
letters/number pair/word from the given alternatives.

ØeMve mebKÙee 5 mes 7 lekeâ kesâ efueS efveoxMe : eqoS ieS eqJekeâuheeW ceW mes
efJe<ece De#ejeW/mebKÙee Ùegice/Meyo keâes ÛegefveS~
5. (a) Mint/hegoervee (b) Peepal/heerheue

(c) Coriander/OeefveÙee (d) Rosemary/iegueceWnoer
6. (a) ZXWU (b) YWVT (c) WUTR (d) ZXUR
7. (a) 9-27 (b) 9-12 (c) 15-19 (d) 21-27
8. A word is represented by only one set of

numbers as given in any one of the
alternatives. The sets of numbers given in the
alternatives are represented by two classes of
alphabets as in the matrix given below, The
columns and rows of Matrix-I are numbered
from 0 to 4 and that of Matrix-II from 5 to 9. A
letter from the matrix can be represented first
by its row and next by its column, e.g., and 'P'
can be represented by 55, 67, etc. 'A' can be
represented by 00, 13 etc. and 'P' can be
represented by 55, 67 etc. Similarly, you have
to identify the set for the word ‘BATS’.
Skeâ Meyo kesâJeue Skeâ mebKÙee-mecetn Éeje oMee&Ùee ieÙee nw, pewmee
efkeâ efJekeâuheeW ceW mes efkeâmeer Skeâ ceW efoÙee ieÙee nw~ efJekeâuheeW ceW efoS
ieS mebKÙee mecetn, De#ejeW kesâ oes JeieeX Éeje oMee&S ieS nQ, pewmee efkeâ
veerÛes efoS ieS cewefš̂keäme ceW nw~ cewefšk̂eäme-I kesâ mlecYeeW Deewj hebefkeäleÙeeW
keâer mebKÙee 0 mes 4 oer ieF& nw Deewj cewefšk̂eäme-II keâer 5 mes 9~
cewefšk̂eäme mes Skeâ De#ej keâes henues Gmekeâer hebefkeäle Deewj efheâj mlecYe

mebKÙee Éeje yeleeÙee pee mekeâlee nw~ GoenjCe kesâ efueS ' 'A  keâes 00,
13 Deeefo Éeje yeleeÙee pee mekeâlee nw~ Fmeer lejn mes Deehekeâes Meyo
kesâ efueS mebKÙee mecetn ‘BATS’ keâes henÛeevevee nw~

Matrix-I Matrix-II

0 1 2 3 4 5 6 7 8 9

0 A C B D E 5 P Q S R T

1 D C B A E 6 T O P Q S

2 E A C B D 7 Q P S T R

3 B A C D E 8 T R O S Q

4 E B A C D 9 S T R P O

(a) 00, 30, 95, 78 (b) 30, 13, 65, 88
(c) 41, 85, 10, 99 (d) 96, 75, 34, 58

9. Which item will appear on third position. After
arranging the following words as per their
order in English dictionary?
keâewve-meer ceo leermejs mLeeve hej nesieer~ Ùeefo efoS ieS MeyoeW keâes
Deb«espeer Meyokeâes<e kesâ Devegmeej efueKeW?
(a) Pain (b) Page (c) Pall (d) Pair

10. Which one of the given response would be a
meaningful order of the following?
efvecve efJekeâuheeW ceW mes keâewve-mee efJekeâuhe veerÛes efoÙes ngS MeyoeW keâe
meeLe&keâ ›eâce oMee&lee nw?
1. Tissue/Tlekeâ 2. Cell/keâesefMekeâe
3. Organ/Debie
(a) 1, 2, 3 (b) 3, 1, 2 (c) 2, 1, 3 (d) 2, 3, 1

Direction for questions 11 to 13 : A series is given,
with one term missing. Choose the correct alternative
from the given ones that will complete the series.

ØeMve mebKÙee 11 mes 13 lekeâ kesâ efueS efveoxMe : Skeâ Deveg›eâce efoÙee
ieÙee nw, efpemeceW Skeâ heo ueghle nw~ efoS ieS efJekeâuheeW ceW mes Jen mener
efJekeâuhe ÛegefveS pees Deveg›eâce keâes hetje keâjs~
11. Z3A, W9D, ?, Q81J, N234M

(a) V21H (b) T27G (c) S29F (d) R31E
12. 7, 12, 19, 28, 39, ?

(a) 49 (b) 57 (c) 52 (d) 51
13. BC, FGH, KLMN, ?, XYZABC

(a) RSTUV (b) PQRST (c) QRST (d) QRSTU
14. Insert the arithmetical signs in the following

numerical figure :
efvecveefueefKele mebKÙeelcekeâ Deeke=âefle ceW Debkeâ ieefCeleerÙe efÛeÖ ueieeSb
9, 3, 4, 6, = 29
(a) , , (b) , , (c) , , (d) , ,
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15. If ‘EVENT’ is coded as ‘54552’, then ‘REVENGE’
is coded as :
Ùeefo ‘EVENT’ keâes ‘54552’ kesâ ™he ceW keâes[ yeæ efkeâÙee peelee
nw lees ‘REVENGE’ keâes efkeâme ™he ceW keâes[ yeæ efkeâÙee peeSiee?
(a) 8455753 (b) 9845575
(c) 8755475 (d) 9545575

16. Select the missing number from the given
responses.
efoS ieS efJekeâuheeW ceW mes ueghle Debkeâ %eele keâerefpeS~

(a) 45 (b) 63 (c) 36 (d) 24
17. Ram started from his house and travelled 3 km

towards South. Then turned left and travelled
4 km. Then again he turned right and travelled
3 km. From there, he turned left and travelled
4 km. At what distance is he now from his
house?
jece Deheves Iej mes Ûeuevee DeejbYe keâjkesâ 3 efkeâceer0 oef#eCe keâer Deesj
peelee nw~ Gmekesâ yeeo yeeBF& Deesj cegÌ[ peelee nw Deewj 4 efkeâceer0 Ùee$ee
keâjlee nw~ Gmekesâ yeeo Jen oeBF& Deesj cegÌ[ peelee nw Deewj 3 efkeâceer0
Ùee$ee keâjlee nw~ JeneB mes Jen yeeBF& Deesj cegÌ[ peelee nw Deewj 4
efkeâceer0 Ùee$ee keâjlee nw~ Jen Deheves Iej mes Fme meceÙe efkeâleveer otjer
hej nw?
(a) 5 km (b) 10 km (c) 14 km (d) 15 km

18. This Venn diagram shows the number of
people who can speak Telugu, Hindi and
English. Find out the total number of people
who can speak all the three languages?
Fme Jesve jsKeeke=âefle ceW Gve JÙeefkeäleÙeeW keâer mebKÙee oMee&F& ieF& nw pees
lesuegiet, efnboer Je Deb«espeer yeesue mekeâles nQ~ Gve JÙeefkeäleÙeeW keâer kegâue
mebKÙee yeleeSB pees Fve leerveeW Yee<eeDeeW keâes yeesue mekeâles nQ~

(a) 13 (b) 12 (c) 9 (d) 19
19. Identify the answer figure from which the

given pieces in question figure are found.
Gme Gòej Deeke=âefle keâe helee ueieeSb efpemeceW mes šgkeâÌ[s keâeš keâj ØeMve
Deeke=âefle ceW ueieeSB ieS nw~
Question Figure/ØeMve Deeke=âefle :

Answer Figures/Gòej Deeke=âefleÙeeB :

20. Indicate the best relation among black board,
classroom and school
yuewkeâyees[&, keâ#ee Deewj efJeÅeeueÙe kesâ yeerÛe meJeexòece mebyebOe yeleeSB~

(a) (b)

(c) (d)

Direction for question 21 and 22 : One or two
statements is given followed by two/three Conclusion
I, II and III, You have to consider the statement to be
true, even if it seems to be at variance from the
commonly known facts. you are to decide which of the
given conclusion can definitely be drawn from the
given statement

ØeMve mebKÙee 21 Deewj 22 kesâ efueS efveoxMe : Skeâ Ùee oes JÙekeäleJÙe
efoÙee ieÙee nw, efpemekesâ Deeies oes/leerve efve<keâ<e& I, II Deewj III efvekeâeues
ieÙes nQ~ Deehekeâes efJeÛeej keâjvee nw efkeâ  JÙekeäleJÙe melÙe nw Ûeens Jen
meeceevÙele: %eele leLÙeeW mes efYevve Øeleerle neslee nes~ Deehekeâes efveCe&Ùe
keâjvee nw efkeâ efoS ieS JÙeòeâJÙe ceW mes keâewve-mee efveefMÛele ™he mes mener
efve<keâ<e& efvekeâeuee pee mekeâlee nw~
21. Statement/keâLeve :

Jessica has 4 children. Two of them have blue
eyes and two have brown eyes. Half of the
children are girls.
pesefmekeâe kesâ 4 yeÛÛes nQ~ GveceW mes oes veerueer DeeBKeW nQ Deewj oes keâer
Yetjer DeeBKeW nQ~ FveceW mes DeeOes yeÛÛes ueÌ[efkeâÙeeB nQ~
Conclusions/efve<keâ<e& :
I. At least one girls has blue eyes.

keâce mes keâce Skeâ ueÌ[keâer keâer veerueer DeeBKeW nQ~
II. Two of the children are boys.

oes yeÛÛes ueÌ[kesâ nQ~
III.The boys have brown eyes.

ueÌ[keâeW keâer Yetjer DeeBKes nQ~
(a) Conclusion II only/kesâJeue efve<keâ<e& II
(b) Conclusion I and III only/kesâJeue efve<keâ<e& I Deewj III
(c) Conclusion II and III only/kesâJeue efve<keâ<e& I Deewj III
(d) Conclusion I only/kesâJeue efve<keâ<e& I

22. Statements/keâLeve :
Some fishes are crocodiles, Some Crocodiles
are snakes. No snake is snail. All snails are
tortoises.
kegâÚ ceÚefueÙeeB ceiej nesleer nw~ kegâÚ ceiej meeBhe nesles nQ~ keâesF& meeBhe
IeeWIee veneR neslee~ meejs IeeWIes keâÚgS nesles nQ~
Conclusions/efve<keâ<e& :
I. Some snakes are fish/kegâÚ meeBhe ceÚueer nw~
II. Some fishes are tortoise/kegâÚ ceÚefueÙeeB keâÚgS nQ~
(a) Conclusion I follow/efve<keâ<e& I efvekeâuelee nw~
(b) Conclusion II follow/efve<keâ<e& II efvekeâuelee nw~
(c) Both the conclusions I and II follow

efve<keâ<e& I Deewj II oesveeW efvekeâueles nQ~
(d) None of these Conclusion I and II follow

efve<keâ<e& I Je II keâesF& Yeer veneR efvekeâuelee~
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23. Which answer figure will complete the
question figure.
keâewve-meer Gòej Deeke=âefle ØeMve Deeke=âefle kesâ Øeefle™he keâes hetje keâjsieer
Question Figure/ØeMve Deeke=âefle :

Answer Figures/Gòej Deeke=âefleÙeeB :

24. If a mirror is placed on the line AB, than which
of the answer figures is the right image of the
given figure.
Ùeefo Skeâ ohe&Ce AB jsKee hej jKee peeÙes lees oer ieF& Gòej
Deeke=âefleÙeeW ceW mes keâewve-meer Deeke=âefle ØeMve Deeke=âefle keâer mener ohe&Ce
Øeefleefyecye nesieer?
Question Figure/ØeMve Deeke=âefle :

Answer Figures/Gòej Deeke=âefleÙeeB :

25. A piece of paper is folded and cut as shown
below in the question figures. From the given
answer figures, indicate how it will appear
when opened.
veerÛes ØeMve Deeke=âefleÙeeW ceW efoKeeS Devegmeej keâeiepe keâes ceesÌ[keâj
keâešves leLee Keesueves kesâ yeeo Jen efkeâme Gòej Deeke=âefle pewmee efoKeeF&
osiee?
Question Figure/ØeMve Deeke=âefle :

Answer Figure/Gòej Deeke=âefleÙeeB :

General Awareness
26. Which of the following organizations brings

out the publication known as 'World Economic
Outlook?
efvecveefueefKele ceW mes keâewve-mee mebie"ve ’Jeu[& Fkeâesvee@efcekeâ
DeeGšuegkeâ’ veecekeâ ØekeâeMeve ØekeâeefMele keâjlee nw?
(a) The interanational Monetary fund/Devleje&<š^erÙe

cegõe keâesÙe
(b) The United Nations Development Programme /

mebÙegòeâ je<š^ efJekeâeme keâeÙe&›eâce
(c) The world Economic Forum / efJeÕe  DeeefLe&keâ  heâesjce
(d) The world Bank/ efJeÕe yeQkeâ

27. The seasonal reversal of  winds is the  typical
characteristic of
heJeveeW keâe ceewmeceer Gl›eâceCe efkeâmekeâe Øe™heer DeefYeue#eCe nw?
(a) Equatorial Climate / YetceOÙemeeiejerÙe peueJeeÙeg
(b) Mediterranean Climate/ YetceOÙemeeiejerÙe peueJeeÙeg
(c) Monsoon Climate  / ceevemetve peueJeeÙeg
(d) All of the above climates  / GheÙeg&òeâ meYeer peueJeeÙeg

28. Which one of the following pairs does not form
part of the six systems of Indian philosophy?
efvecveefueefKele ÙegiceeW ceW mes keâewve-mee Skeâ YeejleerÙe <e[doMe&ve keâe
Yeeie veneR nw?
(a) Mimansa and Vedanta/ ceerceebmee Deewj Jesoevle
(b) Nyaya and Vaisheshika/ vÙeeÙe Deewj JewMesef<ekeâ
(c) Lokayata and Kapalika / ueeskeâeÙele Deewj keâeheeefuekeâe
(d) Sankhya and Yoka / mebKÙee Deewj Ùeesie

29. In the Constitution of India, Promotion of
International Peace and Secuirty is included
in the
Yeejle kesâ meefJeOeeve ceW Devleje&<šêrÙe Meeefvle Je megj#ee keâer DeefYeJe=efæ
keâe keâneB GuuesKe nw ?
(a) Preamble to the constitution/ mebefJeOeeve keâer GösefMkeâe ceW
(b) Directive Principles of State Policy/ jepÙe kesâ veerefle

efveosMekeâ efmeæevleeW ceW
(c) Fundamental Duties  / cetue keâle&JÙeeW ceW
(d) Ninth Schedule/ veewJeer DevegÛetÛeer ceW

30. In Medieval India, the designations
'Mahattarra' and 'Pattakila' were used for
ceOÙekeâeueerve Yeejle ceW ‘cenòej’ Deewj ‘heóefkeâue’ heoveece efkeâvekesâ
efueS ØeÙegòeâ nesles Les ?
(a) Military officers/ mewvÙe DeefOekeâejer
(b) Village headmen/ «eece cegefKeÙee
(c) Specialists in vedic rituals / Jewefokeâ keâce&keâeC[ kesâ

efJeMes<e%e
(d) Chiefs of craft guilds/ efMeuhe ßesefCeÙeeW

31. What does venture Capital Mean?
peesefKece hetBpeer mes keäÙee leelheÙe& nw?
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(a) A short-term capital provided to industries/GÅeesieeW
keâes GheueyOe keâjeF& ieF& Deuhekeâeueerve hetBpeer

(b) A long-term start-up capital provided to new
entrepreneurs/veS GÅeefceÙeeW keâes GheueyOe keâjeF& ieF& oerIe&keâeueerve
ØeejefcYekeâ hetBpeer

(c) Funds provided to industries at times of incurring
losses/ GÅeesieeW keâes neefve G"eles meceÙe GheueyOe keâjeF& ieF& efveefOeÙeeB

(d) Funds provides for replecement and renovation
of industries/ GÅeesieeW kesâ ØeeflemLeeheve SJeb veJeerkeâjCe kesâ efueS
GheueyOe keâjeF& ieF& efveefOeÙeeB

32. If the interest rate is decreased in an economy
it will
efkeâmeer DeLeJÙe&JemLee ceW Ùeefo yÙeepe keâer oj keâes IešeÙee peelee nw, lees
Jen
(a) Decrease the consumption expenditure in the

economy/ DeLe&JÙeJemLee ceW GheYeesie JÙeÙe IešeSiee~
(b) Increase the tax collection of the government/

mejkeâej kesâ keâj-meb«en keâes yeÌ{eSiee~
(c) Increase the investment  expenditure in the

economy/ DeLe&JÙeJemLee ceW efveJesMe JÙeÙe keâes yeÌ{eSiee~
(d) Increase the total savings in the economy/

DeLe&JÙeJemLee ceW kegâue yeÛele keâes yeÌ{eSiee
33. The power of the Supreme Court of India to

decide disputes between the centre and the
states falls under its
kesâvõ Deewj jepÙeeW kesâ yeerÛe nesves Jeeues efJeJeeoeW keâe efveCe&Ùe keâjves keâer
Yeejle kesâ GÛÛelece vÙeeÙeeueÙe keâer Meefòeâ efkeâmekesâ Devleie&le Deeleer nw?
(a) Advisory Jurisdiction/ hejeceMeea DeefOekeâeefjlee kesâ Devleie&le
(b) Appellate Jurisdiction/ Deheerueer DeefOekeâeefjlee kesâ Devleie&le
(c) Original Jurisdiction/ cetue DeefOekeâeefjlee kesâ Devleie&le
(d) Writ Jurisdiction/ efjš DeefOekeâeefjlee kesâ Devleie&le

34. Among the following organisms, which one
does not belong to the class of other three?
efvecveefueefKele ceW mes keâewve-mee Skeâ peerJe, DevÙe leerve peerJeeW kesâ Jeie&
keâe veneR nw?
(a) Crab/ kesâkeâÌ[e
(b) Mite/ ye™Leer/Iegve
(c) Scorpion/ efyeÛÚt
(d) Spider / cekeâÌ[er

35. The power to increse the numberof judges in
the Supreme court of India is vested in
Yeejle kesâ GÛÛelece vÙeeÙeeueÙe ceW vÙeeÙeOeerMeeW keâer mebKÙee ceW Je=efæ
keâjves keâer Meefòeâ efkeâmeceW efveefnle nw ?
(a) The President of India/ Yeeejle keâe je<š^heefle
(b) The Parliament/ mebmeo
(c) The Chief Justice of India / Yeejle keâe cegKÙe vÙeeÙecetefle&
(d) The Law Commission / efJeefOe DeeÙeesie

36. Which one of the following pairs of islands is
separated from each other by the "Ten Degree
channel?

efvecveefueefKele ÉerheeW kesâ ÙegiceeW ceW mes keâewve-mee Skeâ ‘ome DebMe
peueceeie&’ Éeje Deeheme ceW ØeLekeâ efkeâÙee peelee nw ?
(a) Andaman and Nicobar/ DeC[ceeve Deewj efvekeâesyeej
(b) Nicobar and Sumatra/ efvekeâesyeej Deewj megcee$ee
(c) Maldives and Lakshadweep/ ceeueoerJe Deewj ue#eÉerhe
(d) Sumatra and Java/ megcee$ee Deewj peeJee

37. Which one of the following is the largest
Committee of the Parliament?
efvecveefueefKele ceW mes keâewve-meer Skeâ meyemes yeÌ[er mebmeoerÙe meefceefle nw?
(a) The committee on Public Accounts/  ueeskeâ uesKee

meefceefle
(b) The committee on Estimates/ Øeekeäkeâueve meefceefle
(c) The committee on Public Undertakings/ ueeskeâ

mejkeâejer Ghe›eâce meefceefle
(d) The committee on Petitions/ ÙeeefÛekeâe meefceefle keâefcešer

Dee@ve heefšMevme
38. Arrange the following Indian states in

descending order of their geographical areas
Yeejle kesâ efvecveefueefKele jepÙeeW keâes Gvekesâ Yeewieesefuekeâ #es$e kesâ Iešles
›eâce ceW JÙeJeefmLele keâerefpeS?
I.Rajasthan/jepemLeeve
II.Tamil Nadu/leefceuevee[g
III. Karnataka/ ceneje<š
OV. Karnataka/ keâvee&škeâ
(a) I, II, III, IV, (b) III, I, IV, II
(c) I, III, IV, II (d) III, IV, I, II

39. Which of the following Islands of India has
volcanic origin?
Yeejle kesâ efkeâme Éerhe keâe Godiece pJeeueecegKeerÙe nw?
(a)  Barren/ yewjve
(b) Car Nicobar/ keâej efvekeâesyeej
(c) Little Nicobar/ efueefšue efvekeâesyeej
(d) North Andaman/ Gòejer DeC[ceeve

40. Which among  the following has the largest
shipyard in India?
Yeejle ceW efvecveefueefKele ceW mes keâneB meyemes yeÌ[e heesleØeebieCe (efMehedÙee[&
) nw
(a) Kolkata (b) Cochin
(c) Mumbai (d) Vishakhapatnam

41. Patato is a
Deeuet nw, Skeâ
(a) Roote/ cetue (b) Fruit/ heâue
(c) Tuber/ keâvo (d) Bulb / Meukeâkeâvo

42. Vinegar is chemically known as
efmekeâje keâe jemeeÙeefvekeâ veece nw
(a) Acetic Acid/ Sefmeefškeâ Decue
(b) Butyric Acid/yÙetšerefjkeâ Decue
(c) Formic Acid/ heâe@efce&keâ Decue
(d) Tartaric Acid/ šejšefjkeâ Decue
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43 Who is the protagonist of Chipko Movement?
efÛehekeâes Deevoesueve  kesâ ØeCeslee keâewve nQ?
(a) Medha Patkar / cesIee heeškeâj
(b)  M.S. Swaminathan/ Sce.Sme. mJeeceerveeLeve
(c)  Sunderlal Bahuguna/ megbojueeue yengiegCee
(d) Chandi Prasad Bhatt/ Ûeb[erØemeeo Yeó

44. Which of the following is a Submarine of
Indian Navy?
efvecveefueefKele ceW mes keâewve-meer Skeâ YeejleerÙe veewmesvee keâer heve[gyyeer nw?
(a) INS Virat/ /DeeF.Sve.Sme efJeješ
(b) INS Sindhurakshak/ DeeF.Sve. Sme. efmebOegj#ekeâ
(c) INS Rajali/ DeeF&.Sve. Sme. jepeeefue
(d) INS Vikrant/ DeeF.Sve.Sme. efJe›eâeble

45. What is the virus that spreads in computer?
keâchÙetšj ceW hewâueves Jeeuee JeeÙejme nw-
(a) Hardware/ne[&JesÙej
(b) Computer Program/ keâchÙetšj Øees«eece
(c) Ant/ Ssvš
(d) System Software/ efmemšce mee@heäšJesÙej

46. What was the name of Shivaji's Guru?
efMeJeepeer kesâ ieg® keâe veece keäÙee Lee?
(a) Ramdas/ jeceoeme (b) Tukaram / legkeâejece
(c) Vaman Pandit/ Jeeceve hebef[le
(d) Gaga Bhatt/ ieeie Yeó

47 The largest commerical bank of India is
Yeejle keâe meyemes yeÌ[e JÙeeheejefjkeâ yewkeâ nw
(a) NABARD/ veeyee[&
(b) State Bank of India/ mšsš yeQkeâ Dee@heâ Fbef[Ùee
(c) ICICI / DeeF&.meer.DeeF&.meer.DeeF&
(d) Union Bank of India/ ÙetefveÙeve yeQkeâ Dee@heâ Fbef[Ùee

48 Which kind of Panchyati Raj system wasr
recommended by the Balwant Rai Mehta
Committee?
yeueJeble jeÙe cesnlee meefceefle ves efkeâme Øekeâej keâer hebÛeeÙeleer jepe
JÙeJemLee keâer DeveggMebmee keâer Leer ?
(a) Two-tier/ efÉmlejerÙe (b) Three-tier/ ef$emlejerÙe
(c) Village level/ «eecemlejerÙe
(d) None of the above/ GheÙeg&òeâ ceW mes keâesF& veneR

49. The book "The Other One Percent : Indians in
America" has been authored by whom?
‘‘o Deoj Jeve hejmeWš : FefC[Ùeveme Fve Decesefjkeâe’’ efkeâmekesâ Éeje
efueKeer ieF& nw?
(a) Mohana Krishna /ceesnve ke=â<Ce
(b) Sanjoy Chakravarty/ mebpeesÙe Ûe›eâJeleea
(c) Joe Harris/ pees nwefjme
(d) Balaji Vittal/ yeeueepeer efJeóue

50. What is the India's rank in 2016 Global
Terrorism Index (GTI)?
2016 kesâ ‘iueesyeue DeelebkeâJeeo metÛekeâebkeâ’ ceW Yeejle keâe mLeeve
keäÙee n?w

(a) 9th (b) 7th (c) 11th (d) 13 th
 Maths

51. If x x x x4 4 4 4.. . .  = x, then find the
value of x.

Ùeefo x x x x x4 4 4 4.. . .  nes, lees x keâe
ceeve yeleeDees~
(a) 4 (b) 3 (c) 2 (d) 5

52. Find the maximum value of the expression
1
6 102x x

efoÙes ieÙes JÙebpekeâ 1
6 102x x

 keâe DeefOekeâlece ceeve%eele

keâerefpeS~
(a) 2 (b) 1 (c) 0 (d) 3

53. Find the minimum value of 5 92 2cos sec
5 92 2cos sec  keâe vÙetvelece ceeve %eele keâerefpeS~
(a) 14 (b) —14 (c) 6 5 (d) 12

54. Find the value of 1
1

cos
cos
A
A

1
1

cos
cos
A
A
 keâe ceeve %eele keâerefpeS~

(a) 1 2cos
sin

A
A

(b) 1
2

cos
sin

A
A

(c) sin
cos
A
A1

(d) sin
cos
A
A1

55. In the given figure AB || QR, then the value of
PB is —
efoS ieS efÛe$e ceW AB QR|| , lees PB keâe ceeve nQ—

(a) 3.5 cm (b) 3 cm (c) 4 cm (d) 4.5 cm
56. If the adjoining figure, AE is the external

bisector of CAD meeting BC producted at E. If
AB = 5 cm, AC = 3 cm and BC = 6 cm, then CE is
equal to

efoÙes ieÙes efÛe$e ceW AE CAD,  keâe yeeÜe keâesCe meceefÉYeepekeâ nw,
pees BC keâes Deeies ye{eves hej E efyevog hej efceuelee nw~ Ùeefo
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AB 5 mesceer. AC 3 mesceer. Deewj BC 6 mesceer. nw, leye CE
keâe ceeve nw~

(a) 9 cm (b) 10 cm (c) 8 cm (d) 11 cm
57. A person observes that the angle of elevation

of the top of a pole of height 10 metre is 60°.
Then the distance of the person from the pole
is —
Skeâ JÙeefòeâ heelee nw efkeâ 10 ceer. TBÛeeF& Jeeues Skeâ KecYes kesâ Meer<e&
keâe GvveÙeve keâesCe 60  nw~ Fme KecYes mes JÙeefòeâ keâer otjer efkeâleveer
nw~

(a) 30 m (b) 10 m (c) 10 3
3

 m (d) 20 m

58. The ratio of sides of a triangle is 3 : 4 : 5 and
area of the triangle is 144 sq unit. Then the
area of an equilateral triangle whose
perimeter is same as that of the previous
triangle is —
efkeâmeer ef$eYegpe keâer Yegpee keâe Devegheele 3 4 5: :  nw, leLee #es$eheâue
144 FkeâeF& 2  nw~ Gme meceyeeng ef$eYegpe keâe #es$eheâue %eele keâerefpeS,
efpemekeâe heefjceehe hetJe& ef$eYegpe kesâ heefjceehe kesâ yejeyej nw~
(a) 96 unit 2 (b) 96 3unit 2

(c) 48 3unit 2 (d) 104 unit 2

59. From a point within an equilateral triangle,
prependicular drawn to the three sides are 6
cm, 7 cm and 8 cm respectively, the side of the
triangle is —
meceyeeng ef$eYegpe kesâ Yeerlej efkeâmeer efyebog mes leerveeW YegpeeDeeW hej [eues
ieS uecyeeW keâer uecyeeF& 6 mesceer., 7 mesceer. leLee 8 mesceer nw~ ef$eYegpe
keâer YegpeeSB %eele keâjW~
(a) 14 cm (b) 14 3 cm (c) 16 3 cm (d) 21 3 cm

60. A, B and C centre into a partnership with
capitals in the ratio of 5 : 6 : 8. At the end of the
business term, they recieved the profits in the
ratio 10 : 15 : 24. Find the ratio of time in which
they contributed their capitals.
A B,  leLee C ves Skeâ JÙeeheej ceW 5 6 8: :  kesâ Devegheele ceW Deheveer hetBpeer
efveJesMe keâer, Ùeefo GvneWves 10 15 24: :  kesâ Devegheele ceW ueeYe Øeeehle
efkeâÙee~ lees %eele keâerefpeÙes, efkeâ Gvekesâ Éeje hetBpeer efveJesMe kesâ meceÙeeW
keâe Devegheele keäÙee nw~
(a) 8 : 5 : 6 (b) 4 : 5 : 6
(c) 5 : 6 : 4 (d) 8 : 5 : 6

61. Out of 11 persons, 10 persons spend Rs. 30 each
for their meals. 11th spend Rs. 20 more than
the average expenditure of all of them. The
total money spend by all of them is —
11 JÙeefòeâÙeeW ceW mes 10 JÙeefòeâ ØelÙeskeâ Keeves hej ™. 30 KeÛe& keâjlee
nw~ 11 JeeB JÙeefòeâ Deewmele keâer Dehes#ee ™. 20 pÙeeoe KeÛe& keâjlee
nw~ meYeer JÙeefòeâÙeeW kesâ Éeje KeÛe& kegâue Oeve nQ—
(a) Rs. 350 (b) Rs. 352 (c) Rs. 348

(d) Rs. 354
62. The value of .69 is —

.69 keâe ceeve nQ~
(a) 24

33
(b) 23

33
(c) 33

23
(d) 1

3
63. Simplify 3 4

3 4

1

1
.

3 4
3 4

1

1
 keâe mejueerkeâjCe nQ~

(a) 3
5

(b) 5
4

(c) 4
5

(d) 5
3

64. In a race of 200 metres, B can give a start of 5%
to A and C can give start of 1% to B. The start
that C can give to A in the same race, is —
200 ceer. keâer oew[ ceW, B A,  kesâ 5% keâer leLe C B,  keâes 10% keâer
ye{le os mekeâlee nw~ Gmeer oew[ ceW C A,  keâes efkeâleveer ye{le os mekeâlee
nw~
(a) 30 metres (b) 29 metres
(c) 27 metres (d) 25 metres

65. A can complete 1
4

 of a work in 4 days and B can

complete 2
5

 of a work in 8 days. In how much

time both A and B together can complete the
work ?

A efkeâmeer keâece keâe 1
4
 Yeeie 4 efoveeW ceW leLee B efkeâmeer keâece keâe 2

5
Yeeie 8 efoveeW ceW keâj mekeâlee nw~ A Deewj B efceuekeâj keâece keâes
efkeâleves efoveeW cebs Kelce keâj mekeâles nQ~
(a) 89

8
(b) 8 8

9
(c) 8 days (d) 10 days

66. The LCM of three different numbers of 16.
Which of the following can not be their HCF ?
leerve Deueie-Deueie mebKÙeeDeeW keâe ue.me. 160 nw, lees FmeceW mes
keâewve Gvekeâe ce.me. veneR nes mekeâlee nQ~
(a) 12 (b) 8 (c) 16 (d) 32

67. What percent of decrease in expenditure
would exactly cancel out the 20% increase ?
KeÛe& ceW efkeâleves ØeefleMele keâer keâceer mes 20% Je=efæ keâes ØeYeeJenerve keâj
osieW~
(a) 20% (b) 16 2

3
% (c) 331

3
% (d) 25%

68. A shopkeeper earns a [rofit of 12% on selling a
watch at 20% discount on printed price. The
ratio of the cost price to printed price of the
watch is —
Skeâ ogkeâeveoej keâes Debefkeâle cetuÙe hej 20% keâer Útš osves hej 12%
keâe ueeYe neslee nw~ lees Gmekesâ ›eâÙe cetuÙe leLee Debefkeâle cetuÙe keâj
Devegheele nQ~
(a) 12 : 5 (b) 5 : 12 (c) 6 : 25 (d) 5 : 7

69. With a given of simple interest, the ratio of
principal and amount for a xertain period is 5 :
6. After 3 years, with the same rate of interest,
the ratio 3. Then, the rate of interest is —
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oer ieÙeer meeOeejCe yÙeepe keâer oj mes meceÙeeefJeefOe kesâ efueÙes cetueOeve mes
5 6:  keâe Devegheele nw~ 3 Je<e& kesâ Ghejevle Gmeer yÙeepe keâer oj mes
cetueOeve keâe efceßeOeve mes Devegheele 2 3:  nes peelee nw~ yÙeepe keâer oj
keäÙee nesieer~
(a) 5% (b) 15% (c) 10% (d) 2%

70. Two vessels A and B contain milk and water
mixed in the ratio 5 : 8 and 2 : 11 respectively.
The ratio in which these two mixture be mixed
to get new mixture containing 16 2

3
% milk ?

oes yele&veeW A leLee B ceW otOe Deewj heeveer ›eâceMeŠ 5 8:  leLee 2 11:  kesâ
Devegheele ceW nw~ oesveeW efceßeCeeW keâes efkeâme Devegheele ceW efceueeÙee peeÙes
leeefkeâ veÙes efceßeCe ceW otOe keâer cee$ee 16 2

3
% nes peeÙes~

(a) 17 : 11 (b) 5 : 6 (c) 1 : 17 (d) 3 : 2
71. A boatman rows 1 km in 10 minutes along the

stream and 3 km in 1 hour sgainst the stream.
The speed of the stream is —
Skeâ veeefJekeâ Oeeje keâer efoMee ceW 1 efkeâceer. keâer otjer 10 efceveš ceW leme
keâjlee nw leLee Oeeje keâer efJehejerle efoMee ceW 3 efkeâceer. keâer otjer 1 Iebšs
ceW leÙe keâjlee nw~ Oeeje keâer ieefle nQ—
(a) 2.5 km/h (b) 0.5 km/h
(c) 1.5 km/h (d) 2 km/h

72. If (a : b : c) = 5 : 7 : 8, then find (a + b : (a + b + c).
Ùeefo (a : b : c) = 5 : 7 : 8, lees (a + b : (a + b + c). keâe ceeve
%eele keâerefpeS~
(a) 3 : 5 (b) 5 : 3 (c) 1 : 2 (d) 2 : 1

Directions 73 to 75 : The pie—charts shown the
percentage of passed3 students in different subjects.
Study the given pie chart and answer the following
questions.

heeF& Ûeeš& ceW efJeefYevve efJe<eÙeeW ceW G$eerCe& Úe$eeW keâe ØeefleMele efoÙee ieÙee
nw~ veerÛes efoÙes ieÙes heeF& Ûeeš& keâe DeOÙeÙeve keâjW Deewj efvecve ØeMveeW keâe
Gòej oW~

Total number of students 1200
kegâue Úe$eeW keâer mebKÙee 1200

73. The ratio of the students passed in English to
the students passed in Geography is —
DebieWpeer leLee Yetieesue ceW GòeerCe& nesves Jeeues Úe$eeW keâer mebKÙee keâe
Devegheele nQ~
(a) 36 : 5 (b) 5 : 36 (c) 1 : 2 (d) 2 : 1

74. The number of students passed in English is
greater than the number of students passed in
Mathmatics by —

Deb«espeer efJe<eÙe ceW ieefCele keâer leguevee ceW efkeâleves Úe$e DeefOekeâ GòeerCe&
ntÙes~
(a) 180 (b) 300 (c) 200 (d) 220

75. The percentage of students passed in English
is —
Deb«esleer ceW GòeerCe& nesves Jeeues Úe$eeW keâe ØeefleMele nQ—
(a) 35% (b) 32% (c) 50% (d) 40%

English Comprehension &
Language

Directions for question 76 to 78 : In each of the
following questions, one part of the sentence has an
error and the other parts of the sentence are correct.
Find out which part of the sentence has an error and
mark that part as your answer out of (a), (b) and (c). If a
sentence is free from error, then choose your answer
as choice (d).
76. Although he jumped (a)/aside but the (b)/stone

hit him.(c)/No error (d).
77. How long it takes (a)/to travel from Delhi to

Mumbai (b)/ by train?(c)/No error (d).
78. Rohan was ill for five days (a)/when the doctor

(b)/was sent for.(c)/No error (d).
Directions for question 79 to 81 : Sentence are given
with blanks to be filled in with an appropriate word(s).
Four alternatives are suggested for each question.
Choose the correct alternativeout of the four.
79. We should go ……… doing more good than

harm.
(a) on (b) above (c) about (d) to

80. The tunnel was so dark and congested, that we
became ………
(a) worried (b) cautious
(c) frightened (d) isolated

81. The sun is shining brightly, please ……… the
light.
(a) take off (b) put on
(c) put off (d) put out

Direction for question 82 to 83 : Out of the four
alternatives, choose the one which best expresses the
meaning of the given word.
82. Insipid

(a) Spicy (b) Savorless
(c) Interesting (d) Warm

83. Innocuous
(a) Careless (b) harmless
(c) Insufficient (d) Irresponsible

Direction for question 84 and 85 : Out of the four
alternatives. choose the word opposite in meaning to
the given word.
84. Transience

(a) Eternity (b) Shallow
(c) Animosity (d) Rest
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85. Seamy
(a) Honest (b) Pure
(c) Unpleasant (d) Sincere

Direction for question 86 and 87 : Four alternatives are
given for the Idiom/Phrase underlined in the sentence.
Choose the alternative which best expresses the
meaning of the Idiom/Phrase.
86. An entrepreneur must keep his fingers on the

pulse of the market to be successful.
(a) being constantly aware of the most recent

developments
(b) Getting your things well organized
(c) don’t delay in getting something done
(d) lose the job

87. Audition test was conducted by the director to
separate sheep from goats.
(a) Examining a group of people and deciding their

suitability
(b) people or things which are no longer useful or

necessary
(c) delay doing the work
(d) trying out every possibility to get a result.

Directions for question 88 to 90 : A part of the
sentence is underlined. Below are given alternatives
to the underlined part at (a), (b), (c) which may improve
the sentence. Choose the correct alternative. In case
no improvement is required, your answer is (d).
88. We hurried to the door, but nobody is there

(a) nobody was there. (b) nobody are there
(c) nobody were there (d) No improvement

89. He is not only a good teacher and also a good
man.
(a) instead also (b) but seldom
(c) but also (d) No improvement

90. Your dress is the same like mine.
(a) the same as (b) as same as
(c) similar like (d) No improvement

Directions for questions 91 to 93 : Out of the four
alternatives, choose the one which can be substituted
for the given words/sentence.

91. Place were wine is made.
(a) Bakery (b) Cloakroom
(c) Tannery (d) Brewery

92. Government by the wealth
(a) Theocracy (b) Plutocracy
(c) Bureaucracy (d) Aristocracy

93. One who eats too much.
(a) Glutton (b) Obese
(c) overweight (d) Greedy

Directions for questions 94 and 95 : Four words are
given in each question, out of which only one word is
correctly, out of which only one word is correctly
spelt. Find the correctly spelt word.
94. (a) Jellousey (b) Jealousy

(c) Jelousey (d) Jealousey
95. (a) Mischevious (b) Mischivous

(c) Mischievous (d) Mischiviuos
Directions for question 96 to 100 : In the following
passage some of the words have been left out. Read
the passage carefully and choose the correct answer
to each question out of the four alternatives and fill in
the blanks.

Cloze Test
If you prefer mountain 21 desert, try Darjeeling,
West Bengal’s hill resort that 22 at the foothills of
the mighty Himalayas. 23 while in Bengal, if
your spirit of adventure gets the better of you, 24
the ferry to the Sunderbans, the world’s largest
delta. But if these places do not attract you,
there’s Bhutan, the quiet Himalayan Kingdom
25 west Bengal.

96. (a) against (b) from (c) with (d) to
97. (a) nestles (b) cuddles (c) sleeps (d) rests
98. (a) so (b) and (c) but (d) since
99. (a) ask (b) take (c) pick (d) pay
100.(a) adjoining (b) surrounding

(c) skirting (d) bordering

Answer key mock-3
1. (b) 2. (d)  3. (b) 4. (a) 5. (c) 6. (c) 7. (b)  8. (c) 9. (d) 10. (b)

11. (d) 12. (c) 13. (b) 14. (a)  15. (b)  16. (b)  17. (a)  18. (d)  19. (b)  20. (b)
 21. (c)  22. (d)  23. (a) 24. (c)  25. (c)  26. (b)  27. (b)  28. (b)  29. (b) 30. (d)
 31. (c) 32. (a)  33. (b)  34. (a)  35. (b)  36. (a)  37. (b)  38. (c)  39. (b) 40. (b)
 41. (d)  42. (a)  43. (b)  44. (d)  45. (a)  46. (d)  47. (b)  48. (a)  49. (c)  50. (a)

51. (b)  52. (b)  53. (b)  54. (a)  55. (a) 56. (b) 57. (c)  58. (b)  59. (a)  60. (d)
 61. (d)  62. (c) 63. (d) 64. (b)  65. (d)  66. (a)  67. (c)  68. (a)  69. (c)  70. (b)
 71. (d)  72. (d)  73. (b)  74. (d)  75. (a)  76. (c)  77. (a)  78. (b) 79. (c)  80. (b)
 81. (d)  82. (c)  83. (c)  84. (c)  85. (d)  86. (b) 87. (b) 88. (d) 89. (c)  90. (d)
 91. (b) 92. (d) 93. (d)  94. (d) 95. (c) 96. (a) 97. (b)  98. (a) 99. (d) 100. (d)
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